
Using Punnett Squares 

 
In the story, we show how a Punnett square can be used to calculate the 

likelihood that a super-strong person like Wonderguy could be born from 
two parents, each with a recessive strength gene.  Let’s look at different 

scenarios.  Remember how dominant and recessive traits work: 
TT Shows Dominant Trait 

Tt Shows Dominant Trait 

tt Shows Recessive Trait 
 

1)  Suppose one parent is super-
strong (tt) and the other does not 

carry the recessive gene (TT). 

2)  Suppose one parent is super-
strong (tt) and the other does carry 

the recessive gene (Tt). 

 
    

      
   

 

 
    

      
   

 

 
    

      
   

 

The probability that their offspring  
 

has super-strength is _________ . 

The probability that their offspring  
 

has super-strength is _________ . 

 

 
3)  Suppose one parent carries the 
recessive gene (Tt) and the other 

does not (TT). 

     

     

     

The probability that their offspring  
 

has super-strength is _________ . 
 

Super-Tricky!  In each case above, what is the probability that their 
offspring does NOT have super-strength?  In each case, do you notice 
anything about the sum of the probabilities? 


